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SN HURSAZD
Bu: AHK OE DB SN2 YB3 =4
J

Col AIRXEN RETE HA (B9 &2
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot Hlws2
D4 SSAS TIA BHAUSH £ 50,000 50,000 0
201 LBt | 50,000 50,000 0
01 AL 2r2lHl 50,000 50,000 0
024 SSMNS TXAI BHUE 50,000
AF2 SMSRSAE & 250,000 363,600 A 113,600
403 XSRS XH= 0| H 250,000 363,600 A 113,600
01 XX S K= 2 250,000 363,600 A 113,600
OATR SH2 REAM &3 250,000
SA2 MXIRSHE AY 1,250,000 412,500 837,500
3 1,000,000
= 250,000
403 REXISHRIS XH= 0| & 1,250,000 412,500 837,500
3 1,000,000
= 250,000
01 XX S KH2 B & 1,250,000 412,500 837,500
OS2 MIRSHE A (1H2) 1,250,000
3 1,000,000
= 250,000
DR 10,000 0 10,000
307 0I2+0| & 10,000 0 10,000
02 IAAMBE 10,000 0 10,000
OXeeiie €23, 1%, 224 N 10,000
CINPEREEONES 146,000 0 146,000
=2 122,000
= 24,000
403 THXI SRS XH= 0| A 146,000 0 146,000
= 122,000
= 24,000
01 XXl SHH K2 2 & 146,000 0 146,000
OGAP A& 2eHALY 146,000
= 122,000
= 24,000
SASSEAL 43 N 92,000 0 92,000
403 TSRS XH= 0| & 92,000 0 92,000
01 XX EHH K2 2 & 92,000 0 92,000
OS2 SEAL &3 X2 92,000
H2RSHH PSA 480,000 0 480,000
| 400,000
= 80,000
403 XSRS XH= 0| H 480,000 0 480,000
p 400,000
= 80,000
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Sl ANFNEN RSTE KA (B9 &)
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
01 XFXISHRIXH2 2 & 480,000 0 480,000
ONSREMIH 2EAL 480,000
| 400,000
= 80,000
Me BRots +B559 X)) Z& 857,899 891,649 £33,750
SAE HelE 52 10,000 0 10,000
307 212H0| & 10,000 0 10,000
02 B2 AR E 10,000 0 10,000
OSAE Helos S5 10,000
2ol FHAIBHS &0t 40,000 40,000 0
307 212H0| & 40,000 40,000 0
04 BIFHALR X 40,000 40,000 0
O3 - 2 ZHAIZ 23 &N 40,000
SSAUE HAANZNHE T 97,000 118,000 A21,000
202 01t 8,000 8,000 0
03 =2/ 201t 8,000 8,000 0
oz28 290ty 8,000
301 YR AD 29,000 50,000 ~21,000
07 212toI =2l 4 b 29,000 50,000 ~21,000
OMSAN WS FIIAH S22 29,000
403 REXIEHH SR 0| & 60,000 60,000 0
02 IS0l ChEHCH S AL B 60,000 60,000 0
OSSHE HANBHEES I+ 60,000
NEsNE 2E2RH Y 275,000 200,000 75,000
308 XX £ S OI & 275,000 200,000 75,000
01 KIS B A2 XS 275,000 200,000 75,000
OllNsMNE 2525 X 275,000
S42 25X S4 302,400 302,400 0
403 X+ X EHRI S KH 0] & 302,400 302,400 0
01 HXISH =2 E 302,400 302,400 0
Osig +5HX S4 302,400
SESNME IIBIZ ALS Y3 60,000 60,000 0
403 KX EHH S K20 & 60,000 60,000 0
01 XFXISHRIXHZ 2 % 60,000 60,000 0
O+E542 BB ALSHS 60,000
425042 TEHW 23 73,499 73,499 0
308 X+XI €M S 01 & 73,499 73,499 0
01 KRS B A2 XS 73,499 73,499 0
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SN B ER(BH) - NREAY - BHES Of] & o i HRZ2

O4+Z =42 TR =2 73,499

JIYE NASSHHS 58 s4 18,709,629 13,853, 182 4,856,447
= 1,246,664
p] 9,783,200
= 7,679,765

Ut DEI ALSHS X 2,370,750 1,495,820 874,930
p] 1,635,000
= 735,750

403 XtXI S S AH2 0| & 2,370,750 1,495,820 874,930
p] 1,635,000
= 735,750

01 HXISHHR 2L X 2,370,750 1,495,820 874,930
Ot DEM AL X 2,370,750
p] 1,635,000
< 735,750

VAMSMACHE J|BHE A A 3,036,675 3,633,800 597,125
p] 2,825,000
= 211,675

403 Rt XIS H S KH201 & 3,036,675 3,633,800 597,125
p] 2,825,000
= 211,675

01 HXISHHR 2L X 3,036,675 3,633,800 597,125
ODAMSMATHT JBHE LAY 3,036,675
| 2,825,000
< 211,675

Ao NFANKSHH ALAY 990,000 0 990,000
p] 720,000
= 270,000

403 KX SHHI S KH2 01 & 990,000 0 990,000
| 720,000
= 270,000

01 HXISHHR 2L X 990,000 0 990,000
OB HHMXRSHE ALY 990,000
| 720,000
= 270,000

HE MK SHARSUH A 2,554,600 1,094,600 1,460,000
p] 1,762,000
< 792,600

403 XHXI S S AH2 0| & 2,554,600 1,094,600 1,460,000
p] 1,762,000
= 792,600

01 HXISHHR2E X 2,554,600 1,094,600 1,460,000
ONE AKX SHRSHE A 2,554,600
| 1,762,000
= 792,600
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M AU 2E DEE sitE 9335 4
el JgE NESEs 58 54 (etel: =3
SA-EFH - SA(SAH) - MREAY - BES Off &F OH gl,liafg BlusZ
sSHESEHE SHX 702,000 855,000 A 153,000
Il 468,000
= 234,000
308 AHXIHHMSOI A 702,000 855,000 A153,000
Il 468,000
= 234,000
01 HXHHBLEES 702,000 855,000 A 153,000
OsdtE BdE s4dX3 AtY 702,000
p) 468,000
= 234,000
W AMEESTH K& 67,500 0 67,500
308 AHXIHMSOI A 67,500 0 67,500
01 HIXHHBLEEXS 67,500 0 67,500
Ona MHE SXAM X 67,500
HetFsSEsN 7 |54 2,700,000 2,400,000 300,000
403 XXM S =01 2,700,000 2,400,000 300,000
01 AXSHHX=2EE 2,700,000 2,400,000 300,000
Oustd=Ssti+ |4 2,700,000
ANE20 OHXIOIZ(BZAE) E23 A 727,856 1,243,726 A515,870
= 727,856
403 XXM SAH=01 & 727,856 1,243,726 A515,870
=2 727,856
01 X SHH K22 E 727,856 1,243,726 A515,870
OAEZZ0l oikiXIolg S8 (BAANE) 727,856
= 727,856
NS0 HHXIOIS(XEHEY) S85 At 473,808 650,910 A77,102
= 473,808
403 XX SHHMS =0l & 473,808 650,910 A1T77,102
= 473,808
01 AXEHHX2E X 473,808 650,910 A1T77,102
OAEZ0l oiXIolg s83H(XE) 473,808
= 473,808
A& diUXIoI2(SHER) S5 AL 45,000 45,000 0
= 45,000
403 XXM S =01 45,000 45,000 0
= 45,000
01 AXSHHMA2EEX 45,000 45,000 0
OAIZ&0l ol XIo2 SS3HSMHEH) 45,000
= 45,000
AMEEH SENS 2,732,000 1,334,826 1,397,174
p) 2,357,000
= 375,000
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403 KX EHHI S K20 & 2,732,000 1,334,826 1,397,174
| 2,357,000
= 375,000
01 XHXI SHRIXH2 2 & 2,732,000 1,334,826 1,397,174
oYy, ®M2ctx 1,208,000
| 833,000
= 375,000
OHIDt R Al & 1,524,000
| 1,524,000
NEELESEE 400,000 0 400,000
403 XX SHH S K2 0| H 400,000 0 400,000
01 XX SR X2 2 X 400,000 0 400,000
ONASEHHS S4 400,000
UES AN MAAL 23 450,000 450,000 0
403 XX SHH S K20 A 450,000 450,000 0
01 XFXISHRIXH2 2 & 450,000 450,000 0
OHIZstRA &% L A& N 450,000
olat =I1H =3 90,000 90,000 0
403 XX EHHI S K2 0| & 90,000 90,000 0
01 XX S X2 2 & 90,000 90,000 0
Ools =M 22 90,000
Ols ASIMSR B2 48,000 48,000 0
308 Xt Xl £H 7 S 01 & 48,000 48,000 0
01 HEXISHBABES 48,000 48,000 0
Oolste DIMSH 22 48,000
EIYRE 0188 A0S MAK 135,000 0 135,000
403 XX M S K2 0| & 135,000 0 135,000
01 XHXIEHRIXH= 2 X 135,000 0 35,000
OIS 0IRE AMES MM 135,000
DA T MAEY N 500,000 0 500,000
403 KX EHHI S 20| & 500,000 0 500,000
01 XFXISHRIXH2 2 & 500,000 0 500,000
OB4 TAE2 MARY XY 500,000
ST SEY S(U)BNS WHESX =4 48,000 0 48,000
403 XX EHFI S K2 0| & 48,000 0 48,000
01 XX B X2 2 & 48,000 0 48,000
OS(H) 8RS HHEX E4 48,000
B2 TS LTAIL N 54,000 0 54,000
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M AHIK OE DED S42 AES S4
ol JIE XYSHES EE 84 (B9 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES (il & OH Ofl At ot HwsZ
403 TR SRS XH2 0| & 54,000 0 54,000
01 XFXISHHIXH2 2 & 54,000 0 54,000
OB42 SHWES SNAIL X2 54,000
28 HIDIRIAIY X2 40,000 0 40,000
403 REXISHRIS XH2 0| & 40,000 0 40,000
01 XX S X2 2 & 40,000 0 40,000
O%8 HIJtE 24AIE e 40,000
Ol&h TUTIAIAE M| X 105,000 0 105,000
403 KX EHHI S K201 & 105,000 0 105,000
01 XX M XHE B X 105,000 0 105,000
OO0l TUYTIAIAY SXIX2 105,000
DEI BEGT ELAY 420,000 0 420,000
403 XX I S K2 0| & 420,000 0 420,000
01 KRBT =X 420,000 0 420,000
ODBHE B4GX ELAY 420,000
AFUZ H2REANE XV 19,440 0 19,440
| 16,200
= 3,240
403 TR SRS XH2 0| & 19,440 0 19,440
p 16,200
= 3,240
01 XFXISHRIXH2 2 & 19,440 0 19,440
OYBLE H2RSAL N 19,440
| 16,200
= 3,240
M2 oL WE NYSUC |4 4,924,530 3,080,322 1,844,208
= 4,525,122
= 399,408
DEIN RSBHS ALY 4,786,208 2,908,500 1,882,708
= 4,466,800
= 319,408
308 XHXI €I S 01 & 97,500 97,500 0
=2 65,000
= 32,500
01 KIXISHH B A 2 XS 97,500 97,500 0
ODNEBX ¥ BUC SH (NS 22 A& 97,500
= 65,000
= 32,500
403 TEXI A S X2 0| & 4,688,708 2,806,000 1,882,708
=2 4,401,800
= 286,908
01 XFXISHRIXH2 2 & 4,688,708 2,806,000 1,882,708




SN HURSAZD

A LUK HE DNEEH s4t2 9E5 |4
Ol MR OS5 HE MYSUC sS4 (cel @
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
ORPC B HAEZNEAE S4 4,688,708
= 4,401,800
L= 286,908
RPC HOHZXt= OIHEA 80,000 90,000 A 10,000
308 AHXIHMSOI A 80,000 90,000 A 10,000
01 XM BLEELS 80,000 90,000 A 10,000
ORPCH OHY Xtz OIAEA 80,000
FRAd=ae 58,322 56,822 1,500
= 58,322
201 Et2Ed| 9,400 8,400 1,000
= 9,400
01 AR 2teld| 9,400 8,400 1,000
ogZyze 2dl 6,000
= 6,000
oLz =Sl 3,400
= 3,400
202 (44l 16,000 14,000 2,000
= 16,000
01 =2 A b 16,000 14,000 2,000
Od=ae gRFH 16,000
= 16,000
308 XXM SO0IA 31,422 34,422 A 3,000
= 31,422
01 IXNHHBHEES 31,422 34,422 23,000
oLzl X (12A2) 31,422
= 31,422
405 KHatE =S| 1,500 0 1,500
= 1,500
01 XML EEHSHI 1,500 0 1,500
o=yl 2 1,500
= 1,500
HY2LIH(H=sSAZD) 41,265 46,767 25,502
Jl2&Hl 41,265 46,767 25,502
Jl2& | 41,265 46,767 25,502
201 Bt2A | 12,915 14,637 AT,722
01 AR 2teld| 12,915 14,637 N1,722
OJlZ=2H| 5,430
OJl2=El 7,485
202 ¢4 4l 28,350 32,130 A3,780
01 =2 A bl 28,350 32,130 A 3,780
OJlI=0 4l 28,350




